M- Ct.\c\‘\c, C)wLPS .

s W(n) c‘jc\m?.

COﬂSid{r u(_q\ . ?\'2"‘\'5_':}’ ?% . l$ ULCQW C«UC\,iC?

Lets i<z = § 2% |kez s

[>]

2° =\

2' =2

2% =y

2% =

242 2.8 (mod A) = 1 (wed A) = 7

25 2 27 (odl @) = M (wodd ) = S
|

= 2.5 (wmod q) = | (wwo{‘i\':‘

5@
2z 2
. rtpced's. we also att ,.,_Pw\\-g ;QMMMT{R\&
' Powfs. Oo \30\/ See s 7
7'z 5 (mod VES
e 2. = CEA (vuod 0\\
eXc.

\Jl

From Yo abone <25 = sl\,zlq‘s—,n,lg’g = W)
eve 2 gpnemks euihiy MU we cancledt

A(a) s céc\ic.

Constdey W(®)= %\,%lgl?% s wl(g) ujc\:c 7
22242 \(wod §) ) {2y=51,3%
crzcT | (wmed® ) T, Zsy= 31,83
12z 4ya= | (wmod g) V.2 <:*_7: EATES

Wence W(g) s not %(mm—ko\ by oay © o

() s mot tydic =0 ho ongwer toiwis question is

N no i oengal | bt Semehines L




The AM answe of  wWhen K (n)) : .

L \ m’% — S cuclic [,,_,\\\

e on in viu cesolt. To sowe hig Ywe vl

ated  a spectal’ Rumchion caled Hhe Buler @ —fuaction

(or ~rotient %mch‘an\_ U%M%’Hf\i& Aanchon we will

%e;\- on e\{gm% ceso |+ alled e ’Fﬁ\mi‘\i% oot

Theorem + KD 1S 530\“' B on=LT Y, P o ZFKJ
Lnare pis an odd V‘W
ond ¥\

2 g0 WAN1S Cusc,\ic_ (as we oo

S0 for exompe A= 3
ot K= 2% L 1S no)ro‘ﬂ on Dl@‘\txﬂ_a\oo\al
:fiorMS so W(E)i§ vot csc\ic
Vi
Coo\ o 17 (asvelinnce

Ead oWl Hag cyelic Sdof)mufﬂs ok K(a) 5 omd Lrnd
o %Qnym\—of for each  SEsRBEE o-f- Yhese ojc\lc

SYoaroups .
{SOL._\'_ 3 V
odresdy  Shown u@)=42? & wis chac. _

NO'\'RQ_ '“Mu-\ we_haNe
Bsa Fhe Func)to.wwﬂ'\u\ Theorevn © \ic .
u(ﬂ\:: \42»\ = C: =N

swmce  MWO=XL27 ond |
foc all \a\n) wa) hes o« uatq¥e cusc,\tc, .
or(&,of ., \n ?M\‘w\of H=<Q— >

\37—;3 and b

¢ )dic S"’ﬁmug °§ ordes \o ((ﬁe.nm-vk)ctd &\wtw‘S\!?Y e \dﬂ/\“ﬁ'\\lw <\> = 3\?5 b also
ch o 5k z | (med 4 ‘\wnce T

2

cyie gogrovp of ockC L grereak Y gelrz b= g(mw\i tndaed

i Y v P) G’
_(:\.f\c - bﬁw“ﬂmﬁ oﬂiﬂ_r__?i . 3e.mm\<dx \016_ 2 = EZZ-'-_‘ Y (med A\ Wdaed"
Lyy=%14,F%

)

Sv\oésrvu? H of
So the divisess o’_Q L ore




(,t-\c\\c Su\oo\mj :ﬁ ok b o (we avead knoo L29= \L(Q\) bt
2"“, = 2 = e (\Moo\ 0\\ mdeed

)

@ Woidy fed all W gqruers o U(Q)

[SoLz] we alrtad Hound {2y = w(q) o (8(,_
oYhar orS W cold -\{\/3-\'0 c,e(v\‘)v'.{ <n>
—ﬁw eacdn WNE l/L(‘ﬂ vt s Thee & betde

wthod W | 7 we have a s\t S
St lal=n . T day = Kady € cy\(ﬂ.'@ﬂ
\

we |2l= 6 T <—n=<zé7e-—»3¢a(c,,p=

=\ er S
Ve 2 = 3z(w~oa Q) = SwaiL i\}t
will also W—\LM JSRWV \n

/ |

OL\ Cvd ol dhe %,QWWS o‘i ‘e L«SC\M s\,\oag(ou\)
oﬁ o0 B W w(a) .

<447= S(\ 4 7% So the Oﬂ\ta'

isou. i M s Pk T oa:nw&cs g . dndeed

OW ?OSS\b\\\ <—+> s“ 2) O on\jr\‘l q' 1

so ‘\-\*\\S\O -\—\\LS,W*QM
\o\:’f?'“%d N \GLS’”‘ S0 <U\> <’?\? <Ul7 41,43




3\8 Mamm'\u\

e 1S €‘L<J|..C!f\oé @ﬁc\acﬁ Sv %mv«‘;

ol \O W (€ \O \BO ™his S
(3% ALY

YZwrcl
LB 77 Y=

¥o ;?\V‘A\ Mo oOYNS USE

&2 /aY4:
\2\=Kzv\= 10 < <%>=<33> > qealie =)
so 6f))?>,'+)°\

/—————’,_/—_
\ <py=<ay =<K2\7 72”3—\

oS AR 3512] Mdlq_‘%&r
s oqrop of o«ur 10 Tao .

'\\I\Q Came Yea @S

(‘L an addifig vto-\-m\—ﬂv\\

SD—M?S(



A L >
89 \"‘ow mana WM dot% ZP \/L&.\LL \:@ P\S P{M»’LC_, §

SoL
Recall Zn=<g§ <—> Sco\(n,pﬂ
/R :<§‘5 &> «3c0\<"3,¥b\'; \

well - e \.‘:3’ = \9*-\
1S re,\a:\\'\&\vB ?r.vwc 4o f—‘
SO

ereciasS
2% )P e ¥

@ How \M(mg %zm/o&ws Aot S ZFL haxe '\ﬁ P‘S “P“M?

¢\ with ?7. 7
A e s o ore NOL

volect 3 are. re,\ac\“'u\s ?
To wuy e easTE o A

N\w\i\(ﬂ.\nj Prime mskad

s
’23—?? Phese OcC Q\QNSM\'S OCQ' Zfz
: et ore MO veladively
(. 3 ?(.\MQ_ wida ?7’ SM(CJ\"/“;
?—7—? S i .
(-Op Shore. Vo

??-:?250 (mod ?7'\) W'
total = P

how iy €lemuts Mlefz? \ZFL\= VZ so
dodal  nunbr O/Q 8(\(\5@67.\/5 \vS Yg‘;?‘ -—‘) l




How maq 3(%‘]1”5 cloes Z?r have ' ,FB?M?

SoL ., Some 1dta 45 R+

! A
3p

2
(p* VP |
@z'.)? all Shac 'f:‘—“”s i
(pre2 = 2F v
Capedt foral o4+ 9
Gy =37

‘n‘% = ‘= 0o ‘."""F




